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1 ������������

1.1 ������������

�� S ����������� S1, S2, · · · , Sn � S � n �����������

�������������

�� 1.1 (������) ��� S ��	�����

S1, S2, · · · , Sn

�������

| S | −
∑

1≤i≤n

| Si | +
∑

1≤i1<i2≤n

| Si1 ∩ Si2 | −
∑

1≤i1<i2<i3≤n

|Si1 ∩ Si2 ∩ Si3 | + · · · + (−1)n |S1 ∩ S2 ∩ · · · ∩ Sn |,

����� |X| �
�� X ������

�������������� x ∈ S �����
�������������

����	��

(1) � x ∈ S� x��
������ Si������� x ∈ Si1, x ∈ Si2, · · · , x ∈ Sim

��� i1, i2, · · · , im ∈ {1, 2, · · · , n}����� i �= i1, i2, · · · , im ��x �∈ Si��

� x ����
���������

1 − m +
(

m

2

)
−

(
m

3

)
+ · · · + (−1)m

(
m

m

)
= (1 − 1)m = 0.

(2) � x ∈ S � x �∈ Si (i = 1, 2, 3, · · · , n)�� x �����
���������

1 − 0 + 0 − 0 + · · · + 0 = 1.

�� (1)�(2) ������ �

�� 1.1 �	 1 
 1000 �	� 2, 3, 5 ������

���� 1 
 1000 ������� S��� S2, S3, S5 �
��� S � 2, 3, 5 ��

�����������

| S2 |= 500, | S3 |= 333, | S5 |= 200,
| S2 ∩ S3 |= 166, | S3 ∩ S5 |= 66, | S2 ∩ S5 |= 100,
| S2 ∩ S3 ∩ S5 |= 33,

����������	����

1000 − (500 + 333 + 200) + (166 + 100 + 66) − 33 = 266.

�
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1.2 ����

	� n ����������� φ(n) ���	������ n �� n �����

�����
	
φ(1) = 1,
φ(2) = 1,
φ(3) = 2,
φ(4) = 2,
φ(6) = 2,

φ(13) = 12,
φ(15) = 8.

��	���� φ(n) ���
��������� n �����	������

��

n = pn1
1 pn2

2 · · · pnl
l ,

�� p1, p2, · · · , pl ������n1, n2, · · · , nl ���������������	�

� n �� n ���������	���	�� n �	� p1, p2, · · · , pl �����

����	�����

φ(n) = n −
l∑

i=1

n

pi
+

∑
1≤i<j≤l

n

pipj
− · · · + (−1)l

n

p1p2 · · · pl

= n

⎛
⎝1 −

l∑
i=1

1
pi

+
∑

1≤i<j≤l

1
pipj

− · · · + (−1)l
1

p1p2 · · · pl

⎞
⎠

= n
(
1 − 1

p1

)(
1 − 1

p2

)
· · ·

(
1 − 1

pl

)
.

�������
��

�� 1.2 (����) ���� n �����	��������

n = pn1
1 pn2

2 · · · pnl
l ,

�� p1, p2, · · · , pl ������ n1, n2, · · · , nl ������

φ(n) = n
(
1 − 1

p1

)(
1 − 1

p2

)
· · ·

(
1 − 1

pl

)
= pn1−1

1 (p1 − 1)pn2−1
2 (p2 − 1) · · · pnl−1

l (pl − 1)

=
l∏

i=1

pni−1
i (pi − 1) .

�

�� 1.2 �	�� φ(n) = 12 ������ n�

������� p | n ����
��

(p − 1) | φ(n) = 12 ⇒ p − 1 = 1, 2, 3, 4, 6, 12,
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���� n �������

2, 3, 5, 7, 13.

(1) � 13 | n�� ⎧⎪⎨
⎪⎩

φ(13) = 12
φ(n) = 12
13 | n

⇒ n = 13 � 2 × 13.

(2) � 7 | n��

⎧⎪⎨
⎪⎩

φ(7) = 6
φ(n) = 12
7 | n

⇒ n = 22 × 7 � 3 × 7 � 2 × 3 × 7.

(3) � 5 | n�� ⎧⎪⎨
⎪⎩

φ(5) = 4
φ(n) = 12
5 | n

⇒ n ���

(4) � n = 2a × 3b��

12 = φ(n) = 2a × 3b−1 ⇒ a = 2, b = 2 ⇒ n = 22 × 32.

��

n = 13, 2 × 13, 3 × 7, 22 × 7, 22 × 32, 2 × 3 × 7.

�

1.3 ������

�������	�����������������������������

��

�� 1.3 	���

1 2 · · · · · · n

a1 a2 · · · · · · an

�� a1, a2, · · · , an ��

{a1, a2, · · · , an} = {1, 2, · · · , n}

� ai �= i�����������	�
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����� 1, 2, 3, · · · , n 
��������� a1, a2, · · · , an 
�� 1, 2, · · · , n��

�	
�� n! ������ Di ���
�	�� ai = i ��	��D12···i ���

�	��a1 = 1, a2 = 2, · · · , ai = i ��	��������

D1 = (n − 1)!,
D12 = (n − 2)!,

D123 = (n − 3)!,
...

D12···i = (n − i)!.

������������	���	��

n! −
n∑

i=1

Di +
∑

1≤i<j≤n

Dij − · · · + (−1)nD12···n.

����

n! −
(

n

1

)
(n − 1)! +

(
n

2

)
(n − 2)! + · · · + (−1)n

(
n

n

)
(n − n)!.

����

n! − n!
(

1 − 1
2!

+
1
3!

+ · · · + (−1)n−1 1
n!

)
.

�

�� 1.1 �	 1 
 10000 �� 2, 3, 5, 7 �������

�� 1.2 � x1, x2, · · · , xn �����

S = x1 + x2 + · · · + xn

��1

(1 + x1)(1 + x2)(1 + x3) · · · (1 + xn) ≤ 1 +
S

1!
+

S2

2!
+

S3

3!
+ · · · + Sn

n!
.

�� 1.3 �	�� φ(n) = 36 ������ n�

�� 1.4 ���� n ≥ 19��	 φ(n) �����

	����
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�27 33 34 6 2 9

5 20 15 14 25 32

8 16 29

7 12 22 30

36 24 11 1

28 4 3 31 35 10
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�������� φ(n) ���	�� n �� n ���������
	

φ(1) = 1, φ(2) = 1, φ(6) = 2, φ(4) = 2, φ(12) = 4, · · · .

.�%�	Ǳ����&'���� n����(	�� n ���� m ��

φ(m) �= φ(n)�
��	Ǳ������ n �	'���
��

n ≤ 1010000

�������� n �	'���

/����������	Ǳ������&'���������n ��

φ(n) | (n − 1).
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